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+ Avoid Creating Unnecessary Objects
» Prefer Static Over Virtual

» Use Static Final For Constants

» Avoid Internal Getters/Setters

» Use Enhanced For Loop Syntax

+ Consider Package Instead of Private Access with Private
Inner Classes

* Avoid Using Floating-Point

* Know and Use the Libraries

+ Use Native Methods Carefully
+ Know And Use The Libraries

+ Use Native Methods Judiciously
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1 1 android/os/Handler.dispatct (Landroid 70.4% 2033.661 0.1% 2234
1 2 android/hard: ger$ListenerDelegate$1.handl (Landroid, 46.9% 1354.124 0.2% 7.128
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@verride//JFRFERF
public void onSensorChanged(SensorEvent mSensorEvent) {

String message = new String();

switch (mSensorEvent. sensor. getType()) {

case Sensor. TYPE MAGNETIC FIELD:
/%
* data from magnetic field sensor
*/
magValues[0] = mSensorEvent. values[0];

mSensorEvent. values[1];

magValues[1]

magValues[2] = mSensorEvent. values[2];
// calculate orientation through magnetic field
calculateOrientation() ;

break;

case Sensor. TYPE GYROSCOPE:
/%
* data from gyroscope sensor
*/
gyroValues[0]

mSensorEvent. values[0];
gyroValues[1] = mSensorEvent. values[1];

mSensorEvent. values[2];

gyroValues[2]
break;

case Sensor. TYPE ACCELEROMETER:
/%
* data from accelerometer sensor
*/

accValues[0] = mSensorEvent. values[0];
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accValues[1] = mSensorEvent. values[1];

accValues[2] = mSensorEvent. values[2];

message = “Acc:\n”;
message += “accX:\t” + df. format (accValues[0]) + “\n”;
message += “accY:\t” + df. format (accValues[1]) + “\n”;

message += “accZ:\t” + df. format (accValues[2]) + “\n”;

message += “Gyro:\n”;

+

” \n’/ ;
message += “gyroY:\t” + df. format (gyroValues[1]) + “\n”;
message += “gyroZ:\t” + df. format (gyroValues[2]) + “\n”;

message += “gyroX:\t” + df. format (gyroValues[0])

message += “Mag:\n”;

message += “magX:\t” + df. format (magValues[0]) + “"\n”;
message += “magY:\t” + df. format (magValues[1]) + “\n”;
message += “magZ:\t” + df. format (magValues[2]) + “"\n”;
message += “Ori:\n”;

message += “oriX:\t” + df. format (oriValues[0]) + “"\n”;
message += “oriY:\t” + df. format (oriValues[1]) + “\n”;
message += “oriZ:\t” + df. format (oriValues[2]) + “\n”;

mActivity. updateUI (message) ;

if (doWrite) {

SimpleDateFormat format = new SimpleDateFormat( “yyyy-MM—-dd HH%RE fr
Pemm# T #ss” ) ;
curDated = format. format (System. currentTimeMillis())
ContentValues valuesa = new ContentValues();
valuesa. put (ACCX, accValues[0]);
valuesa. put (ACCY, accValues[1]):
valuesa. put (ACCZ, accValues[2]):
valuesa. put (GYROX, gyroValues[0]) ;
valuesa. put (GYROY, gyroValues[1]);

valuesa. put (GYROZ, gyroValues[2]);

valuesa. put (MAGX, magValues[0]);
valuesa. put (MAGY, magValues[1]);
valuesa. put (MAGZ, magValues[2]);
valuesa. put (ORIX, oriValues[0]):
valuesa. put (ORIY, oriValues[1]);
valuesa. put (ORIZ, oriValues[2]):
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valuesa. put (LAT, lat) ;
valuesa. put (LOT, 1ng) ;
valuesa. put (TIME, curDated ) ;

saveDataToBuffer (valuesa) ;

break;

BN E B #5 :
// A B RERT %
timer. schedule (task, 0, 100); //100ms$hfT—IX

/*x/

private Timer timer = new Timer (true);

/%
private TimerTask task = new TimerTask() {
public void run() {
Message msg = new Message () ;
msg. what = 1;

handler. sendMessage (msg) ;

private Handler handler = new Handler () {
public void handleMessage (Message msg) {
super. handleMessage (msg) ;
if (msg. what == 1) {
//if (D) Log. d(TAG, “message”);
String message;
message = “Acc:\n”;
message += “accX:\t” + df. format (accValues[0]) + “\n”;
message += “accY:\t” + df. format (accValues[1]) + “\n”;

message += “accZ:\t” + df. format (accValues[2]) + “\n”;
message += “Gyro:\n”;

message += “gyroX:\t” + df. format (gyroValues[0]) + “\n
message += “gyroY:\t” + df. format (gyroValues[1]) + “\n

message += “gyroZ:\t” + df. format (gyroValues[2]) + “\n

message += “Mag:\n”;
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message += “magX:\t” + df. format (magValues[0]) + “\n”;
message += “magY:\t” + df. format (magValues[1]) + “"\n”;
message += “magZ:\t” + df. format (magValues[2]) + “"\n”;
message += “Ori:\n”;

message += “oriX:\t” + df. format (oriValues[0]) + “\n”;
message += “oriY:\t” + df. format (oriValues[1]) + “\n”;
message += “oriZ:\t” + df. format (oriValues[2]) + “\n”;

mActivity. updateUI (message) ;
if (doWrite) f{

SimpleDateFormat format = new SimpleDateFormat( “yyyy-MM—-dd HH%RE fr
Pemmf T #ss” ) ;
curDated = format. format (System. currentTimeMillis())

ContentValues valuesa = new ContentValues();

valuesa. put (ACCX, accValues[0]);

valuesa. put (ACCY, accValues[1]);

valuesa. put (ACCZ, accValues[2]):

valuesa. put (GYROX, gyroValues[0])

valuesa. put (GYROY, gyroValues[1]):

valuesa. put (GYROZ, gyroValues[2]):

valuesa. put (MAGX, magValues[0]):

valuesa. put (MAGY, magValues[1]):

valuesa. put (MAGZ, magValues[2]):

valuesa. put (ORIX, oriValues[0]):

valuesa. put (ORIY, oriValues[1]):;

valuesa. put (ORIZ, oriValues[2]):

valuesa. put (LAT, lat) ;

valuesa. put (LOT, 1ng) ;

valuesa. put (TIME, curDated) ;

saveDataToBuffer (valuesa) ;

}
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